CLASS : 10th (Secondary) Code No. 4203
Series : Sec. M/2019

Roll No. SET : A
o

MATHEMATICS
(Academic/Open)
[ = Td SIS At |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

TIg 3 gue | [ §% : 80

Time allowed : 3 hours | [ Maximum Marks : 80

° P AT Y. T [ T TTGA. 7 JRT.IT 15 T
797 32 &
Please make sure that the printed pages in this

question paper are 15 in number and it contains
32 questions.

° UyT.UF H alled &1 @ T[R4 T e T_ 7o G F
B SOT-geadl % JeF-gee T iG]
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

° FYF TIT FH TV 0GT J& &7 @ GEl, JoT H BB
S7eq [
Before beginning to answer a question, its Serial
Number must be written.

4203/(Set : A) P.T.O.

Previous Pathshala




(2) 4203/(Set : A)
o FuT-gikTm & T 7Gxl G/ 91 T 881
Don’t leave blank page/pages in your answer-book.

o JuryRdE % Gk _#HE o e T Aah o
ST & [d ST fr@r Fav 7 @

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o gferefl o7y T To FIT-UA G 39T [
Candidates must write their Roll Number on the
question paper.

o Y 97 F FIT 37 G g4 98 Glved B [# FT-E
g7 7 7E &, i # .3y 6 Ty 7 g A aar
&I el 5T T

Before answering the questions, ensure that you
have been supplied the correct -and complete
question_paper; no claim in this regard, will be
entertained after examination.

G e :
General Instruction :
(i) & FoT ST &
All questions are compulsory.

(i) 3G Fo7-97 7 F7 32 Fo7 & 7 [F X G 7
g e dae @e:

This question paper consists of 32 questions
in all which are divided into four Sections :
A B Cand D :

4203/(Set : A)

Previous Pathshala




(3)  4203/(Set : A)

& & : 57 @ § 1 7 16 7% Z7 16 F97 &,
9% J97 1 o & 81

Section A : There are 16 questions from 1
to 16, each of 1 mark.

% §: 357 % 717 @21 0% T 5 797 8,
JE% 97 3 37F F 8/

Section B : There are 5 questions from 17
to 21, each of 3 marks.

G 7 : 57 G § 22 7 27 7% FT 6 F97 &,
9% J97 & 37 F 81

Section C : There are 6 questions from 22
to-27, each of 4 marks.

8.7 - '59.97%C 4 28 §32 0% FA 5 F7 &,
9% §97.5 i @18l

Section D : There are 5 questions from 28
to 32, each of 5 marks.

(i) G€ § F & goq1 7 okE [Awew _RE 7 &
g7 @ & Jo7 F g7 &1

Section D contains two questions where
internal choice have been provided. You

have to choose one of them.

4203/(Set : A) P.T.O.

Previous Pathshala




(4) 4203/(Set : A)
goe -
SECTION — A

1. 0.375ﬁ§%wﬁmzﬁﬁm 1

Express 0.375 in the form P

q

2. fEud 9gue x? + 7x+10 % LR B A A B 1

Find the sum of zeroes of quadratic polynomial

X2 ¥ Tx+10.

3. TN x+y=14 @ x-y=4"F x AX y @

9 & : 1
(A) x=9,y=4 By x=9,y=5
(C) x=5,y=9 (D) ™ & &g &

The values of x and y from the equations

x+y=14 and x-y =4 are:
(A) x=9,y=4 B) x=9,y=5

(C) x=5,y=9 (D) None of these

4203/(Set : A)

Previous Pathshala




(5)  4203/(Set : A)

4. 10,7, 4, cooreeenn. A.P. & 303 W@ ® : 1
A) 77 (B) 87
©) -77 (D) & § HE T
30th term of the A.P. 10, 7, 4, ........... is :
(A) 77 (B) 87
c =77 (D) None of these

5. 3, 1, =1, =3, erevcerranniis AP. F TE-FR FA
HifeTT 1
Find the common difference of the A.P. : 3, 1, -1,
—SH..... (. X .

6. Hoh H RU A=l # & el 9=k & TG Hid 8L, R

I H AR 1

&l gq 2 2 (gatmem, qoe)

Fill in the blank using the correct word given in

bracket :

All circles are ........... (congruent, similar)
4203/(Set : A) P.T.O.

Previous Pathshala




(6) 4203/(Set : A)
7. A THEY BET H geE 409 B oEE § ¥ g B

% Sl B ST © 1
(A) 16:81 B) 8:18
(C) 81:16 (D) 12 : 27

Sides of two similar triangles are in the ratio 4 : 9.

Areas of their triangles are in the ratio :
(A) 16:81 (B) 8:18

(C) 81:16 (D) 12427

8. Uh fog Q § Uk g0 W W @1 &l T=E 24 cm o

Q & = 8 T 25 cm Bl JO B AL : 1
(A) 15 cm (B) 12 cm

From a point Q, the length of the tangent to a
circle is 24 cm and the distance of Q from the

centre is 25 cm. The radius of circle is :
(A) 15 cm B) 12 cm

(C) 24.5cm (D) 7cm

4203/(Set : A)

Previous Pathshala




(7) 4203/(Set : A)

9. R @M &l yfdf Hifor : 1
el g @ wW WM T . frgatl W
gferese Fal B

Fill in the blank :

A tangent to a circle intersects it in .................

point(s).

10. (2, 3) ¥R (4, 1) fagett & &9 & g0 & b 1
Find the distance between the points.(2; 3) and
(4, 1).

11. (7, 6) 3R (-3, —4) fogat ®1 P awi @ & 7
frg =1 i 1
Find the mid point of the line joining the points
(7, 6) and (=3, -4).
sin18°

12. & HE TG i 1
cos 72°
Evaluate : sin18°

cos 72°
4203/(Set : A) P.T.O.

Previous Pathshala




(8) 4203/(Set : A)
13. AABC ¥, R@®H #9T B G860 8, AB = 24 cm 3R

BC=7cm 8l sin A& 99 8 : 1
7 7

(A) 25 (B) 24
24 "

(@) 55 (D) ﬁaaﬁéﬂﬁ

In AABC, right-angled at B, AB = 24 cm, BC = 7 cm.
The value of sin A is :

7 7
(A) 25 (B) 22
(©) 24 (D) .None of these

25

14. 6. cm A dit TH 9o & U PU@Us. & 5% §d
FIfoTY, FSTE@T &0 60° B 1

Find the area of a'sector.of a circle with radius
6 cm, if angle of the sector is 60°.

15. &9, forge =g, Aok &R SHeE HHw 12 m, 10 m

3 8 m H ST & 1
(A) 592 m3 (B) 960 m3
(C) 480 m3 (D) TTH & iz -T&l

The volume of the cuboid, whose length, breadth
and height are 12 m, 10 m and 8 m respectively
is :

(A) 592 m3 (B) 960 m3
(C) 480 ms3 (D) None of these

4203/(Set : A)

Previous Pathshala




16.

17.

18.

19.

(9) 4203/(Set : A)
A UG B UH G BpT ST 21 Al 9rar @ Genet &
T 8 B &l WIIHT S i 1

Two dice are thrown at the same time. Find the
probability of getting the sum on the dice is 8.
gus - 9
SECTION - B

o #Ife 5 V2 e emfdm e B 3

Prove that \/5 is irrational.

EUE p(x)=x> -3x2+5x-3 F-WER g(x)=x>-2
q A FHIOM AEIHT T ST S iy 3

Divide the polynomial p(x)= x> -8x?+5x-3 by
the polynomial g¢(x)=x?>~2. Find-the quotient

and remainder.

90 |l &I TEIE Al Uh deh dce T Tk ©@¥ &
AR § | 1.2 9/8 & =@ 9 I @ &l qS T
I @ 3.6 Hi @l $UR W B, T 4 FFT I& I TS
P BET HI TR S BT 3

A girl of height 90 cm is walking away from the
base of a lamp-post at a speed of 1.2 m/s. If the
lamp is 3.6 m above the ground, find the length

of her shadow after 4 seconds.

4203/(Set : A) P.T.O.

Previous Pathshala




20.

21.

22.

23.

(10) 4203/(Set : A)

AOPQ H, fSTH&T &I P §HHI 8, OP = 7 cm 3K
OQ—PQ=lcm.sinQ3ﬁ'{cosQ%qﬁ§|ﬁ
T 3

In AOPQ, right-angled at P, OP = 7 cm and
OQ - PQ = 1 cm. Determine the values of sin Q
and cos Q.

TH Iq B IR §T SN S 8% 6.16 cm? Bl 3

Find the circumference of a circle whose area is
6.16 cm?.

gue - °
SECTION - C
B PO 4
208 3ler 228 o
x Yy x Yy
Solve :
2+§:13 and E—i:—Q
X Yy x Yy

T i g FHEO 5x% -6x-2=0 % YA
B 4

Find the roots of the equation 5x2-6x-2=0
by the method of completing the square.

4203/(Set : A)

Previous Pathshala




(11) 4203/(Set : A)

24. UH U9 40 €9 QUMb & AT A B N 6 A
e B 4
Find the sum of the first 40 positive integers

divisible by 6.

25. % U W BT ABC & §HEU Th BIYSl & &
W,ngﬁmwmﬁeﬁwwﬁzﬁg
gl 4
Construct a triangle to a given triangle ABC with
its sides equal to % of the corresponding sides
of the triangle ABC.

26. fFgell A2, ~2) 3IX B(-7, 4) @ SigH a1 W@RE'S &l
9-BEfod & A fSgell & Fesis & B 4

Find the co-ordinates of the points of trisection of
the line segment joining the points A(2, -2) and

B(-7, 4).
27. IHl YHR ¥ Bl T 52 GH T T H d TH G
feepTetT ST 21 SRRl S i % T8 O 4

One card is drawn from a well-shuffled deck of
52 cards. Calculate the probability that the card
will :

(i) Uh g9l 2R,
be an ace,
(i) T BT TEI BT

not be an ace.

4203/(Set : A) P.T.O.

Previous Pathshala




(12) 4203/(Set : A)
gue - §
SECTION-D

28. TF ATAHR ©d H 49 Igh Bl o & 60 Ho
s dar 51 AR ST O B Yo § 30 Ho 3fE

A, AT B T S BT 5

The diagonal of a rectangular field is 60 metres
more than the shorter side. If the longer side is

30 metres more than the shorter side, find the

sides of the field:

29. 6 cm BT H1 TH g0 GiEQ (F= ¥ 10 cm X fRed
T g @ g9 WSt @ g Hl A A ol
ST ] A 5
Draw a circle of radius 6-¢m. From a point 10 cm

away from its centre, construct the pair of

tangents to the circle and measure their lengths.

30. T W 0% HMR FHEER Tl 8l &l & T g 4,
St AR & TR 8 15 m R 8, MR & RER &
I 9T 60° Bl HAR & SHAR T A 5

4203/(Set : A)

Previous Pathshala




31.

(13) 4203/(Set : A)

A tower stands vertically on the ground. From a
point on the ground, which is 15 m away from
the foot of the tower, the angle of elevation of the
top of the tower is found to be 60°. Find the
height of the tower.

3TeE
OR

g FfT ¢ 5
1-cos©

(cosec 8 —cot 0)? =
1+cos©
Prove that :

(cosec'® — cot 0)? = b A s
1+cos®

H3 T S HR W G B Uh GGl AN b SAH
F & (D SR TH GREa o FERING o A
F A 14 cm & X 36 FIA B A S 13 cm Bl
3H To @ SN T &b s Hieig 5

A vessel open at the top is in the form of a hollow

hemisphere mounted by a hollow cylinder. The
diameter of the hemisphere is 14 cm and the
total height of the vessel is 13 cm. Find the inner

surface area of the vessel.

4203/(Set : A) P.T.O.

Previous Pathshala




(14) 4203/(Set : A)
32. faRad IRERAr S &l 7T 3 BT 5

FEGFIT | 100-120 | 120-140 | 140-160 | 160-180 | 180-200

FrSIear 12 14 8 6 10
Find the mean of the following frequency
distribution :

Class-Interval| 100-120 | 120-140|140-160 | 160-180 | 180-200

Frequency 12 14 8 6 10
gar
OR
frfcfa sifesl & Aftad 525 81 x X y F AN
S, I, AfE A TRIRAT 100 & 5
TG | SRS
0-100 2
100-200 5
200-300 x
300-400 12
400-500 17
500-600 20
600-700 y
700-800 9
800-900 7
900-1000 4

4203/(Set : A)

Previous Pathshala




(15) 4203/(Set : A)

The median of the following data is 525. Find the
value of x and y, if the total frequency is 100 :

Class-Interval | Frequency
0-100 2
100-200 5
200-300 X
300-400 12
400-500 17
500-600 20
600-700 Y
700-800 9
800-900 7
900-1000 4

4203/(Set : A)

Previous Pathshala




CLASS : 10th (Secondary) Code No. 4203
Series : Sec. M/2019

Roll No. SET : B
o

MATHEMATICS
(Academic/Open)
[ = Td SIS At |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

TIg 3 gue | [ §% : 80

Time allowed : 3 hours | [ Maximum Marks : 80

° P AT Y. T [ T TTGA. 7 JRT.IT 15 T
797 32 &
Please make sure that the printed pages in this

question paper are 15 in number and it contains
32 questions.

° UyT.UF H alled &1 @ T[R4 T e T_ 7o G F
B SOT-geadl % JeF-gee T iG]
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

° FYF TIT FH TV 0GT J& &7 @ GEl, JoT H BB
S7eq [
Before beginning to answer a question, its Serial
Number must be written.

4203/(Set : B) P.T.O.

Previous Pathshala




(2) 4203/(Set : B)
o FuT-gikTm & T 7Gxl G/ 91 T 881
Don’t leave blank page/pages in your answer-book.

o JuryRdE % Gk _#HE o e T Aah o
ST & [d ST fr@r Fav 7 @

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o gOETElf STy Tl To FIT-YH §T G/geT @)

Candidates must write their Roll Number on the
question paper.

. 7] ® FAY @7 @ §d I8 Ged &Y [ F97-9H
gfi’?faaﬁé qﬁw%a%iﬁ'swww#%?s‘sﬁw
&I TE 9T TETm

Before answering the questions, ensure that you
have been supplied the correct -and complete
question_paper; no claim in this regard, will be
entertained after examination.

G e :
General Instruction :
(i) & FoT ST &
All questions are compulsory.

(i) 3G Fo7-97 7 F7 32 Fo7 & 7 [F X G 7
g e dae @e:

This question paper consists of 32 questions

in all which are divided into four Sections :
A B Cand D :

4203/(Set : B)

Previous Pathshala




(3)  4203/(Set : B)

& & : 57 @ § 1 7 16 7% Z7 16 F97 &,
9% J97 1 o & 81

Section A : There are 16 questions from 1
to 16, each of 1 mark.

% §: 357 % 717 @21 0% T 5 797 8,
JE% 97 3 37F F 8/

Section B : There are 5 questions from 17
to 21, each of 3 marks.

G 7 : 57 G § 22 7 27 7% FT 6 F97 &,
9% J97 & 37 F 81

Section C : There are 6 questions from 22
to-27, each of 4 marks.

8.7 - '59.97%C 4 28 §32 0% FA 5 F7 &,
9% §97.5 i @18l

Section D : There are 5 questions from 28
to 32, each of 5 marks.

(i) G€ § F & goq1 7 okE [Awew _RE 7 &
g7 @ & Jo7 F g7 &1

Section D contains two questions where
internal choice have been provided. You

have to choose one of them.

4203/(Set : B) P.T.O.

Previous Pathshala




(4) 4203/(Set : B)
gug -
SECTION — A
1. 0.10421%5%@5?%%13 1

Express 0.104 in the form P

q

2. fg0d g x®+7x+10 & IR B YOG S
T 1

Find the product of zeroes of quadratic polynomial

X% +7x+10.

3. @ETl x—y=3 aﬁTng%:es A x &l y & a9

£ 1
(A) x=6,y=9 (B] =9, 1 =46
(C) x=8,y=5 (D) TH & &5 Tl

The values of x and y from the equations

x-y=3 and%+g:6are:
(A) x=6,y=9 B) x=9,y=6
(C) x=8,y=5 (D) None of these

4203/(Set : B)

Previous Pathshala




(5)  4203/(Set : B)

4. —3,—%,2, ........... A.P. & 1197 9§ ¥ : 1
(A) -38 (B) 28
(C) 22 (D) T & Hig &l
11th term of the A.P. : -3, —%, 2, i, is :
(A) -38 B) 28
(C) 22 (D) None of these

5. =5, -1, 3, 7, ... AP. & HE-3<K
i) 1
Find the common difference of the A.P.-: -5, -1,
@SR, .. ... -

6. ®Hies § U o=l § § Hel A&l H JAN B gL, R

W &R 1
woft L B Bl (ereresy, HafrEm)
Fill in the blank using the correct word given in
bracket :

All squares are ........... (similar, congruent)

7. 99 WPT AABC ~ ADEF 8 X % &I%d HhAsT:
64 cm? X 121 cm? ¥l 3’ EF = 15.4 cm, @ BC

H AM B 1

(A) 11.2cm B) 11.4cm

(C) 12.4 cm (D) T8 § i3 &l
4203/(Set : B) P.T.O.
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(6) 4203/(Set : B)

Let AABC ~ ADEF and their areas Dbe,
respectively, 64 cm? and 121 cm?. If EF = 15.4

cm, then BC is :

(A) 11.2cm B) 11.4cm
(C) 12.4cm (D) None of these
8. AR} TP, TQ #= O aW fhel gq W A =i Y@ 3H
yHR & 6 £POQ = 110°, @ £PTQ K & : 1
T
P
\ A
(A)  80° (B) 90°
(C) 70° (D) 60°

If TP and TQ are two tangents to a circle with
centre O so that ZPOQ = 110°, then ZPTQ is :

T
P 1
Lo

(A) 80° (B) 90°

(C) 70° (D) 60°

4203/(Set : B)

Previous Pathshala




(7) 4203/(Set : B)

9. R @M & gfdf #ifrg - 1
a0 & & fIgell W ouRRBE wW Al @ &l
............. Fed 2l

Fill in the blank :

A line intersecting a circle in two points is called

2 .

10. (-5, 7) ¥R (-1, 3) fagal & a9 & g0 7 Hifm 1

Find the distance between the points (-5, 7) and
(-1, 3).

11. (3, 4) AT (5;2) fogetl & @™ awi 3@ & 7 55
S il 1

Find the mid point of the line joining the points
(3, 4) and (5, 2).

tan26°

12. Pl HE 09 EFgli?IQl 1
cot 64°
Evaluate : tan26
cot 64°
4203/(Set : B) P.T.O.
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(8) 4203/(Set : B)
13. AABC # @& #IU B @99 8 AB = 24 cm 3K

BC=7cm 8l cos A & qH B : 1
7 24

(A) 25 (B) 25

© (D) T & B T

In AABC, right angled at B, AB = 24 cm, BC = 7 cm.
The value of cos A is :

7 24
(A) 25 (B) 25
(©) U (D) .None of these

24

14, 4 cm PBedl it TF 9o & U FU@US. & 5% S
FifoT, FoTeer ®°T 30° &1 (1 = 3.14 & -JAN H §Y) 1

Find the area of a'sector.of a circle with radius
4 cm and of angle 30°. (use & = 3.14)

15. g9, e @=E, A8k X SuE HA: 10 m, 8 m

3 6 m F I & 1
(A) 460 m3 (B) 480 m3
(C) 520 md (D) T & F T

The volume of the cuboid, whose length, breadth
and height are 10 m, 8 m and 6 m respectively
is :

(A) 460 m3 (B) 480 m3
(C) 520 m3 (D) None of these

4203/(Set : B)

Previous Pathshala




16. 3 U BN TH G BB A 51 A A DBl AT B
AN 13 B I TTidehe S i) 1
Two dice are thrown at the same time. Find the
probability of getting the sum on the dice is 13.

gug - g
SECTION - B

17. = #C & 3 % Ry €@e Bl 3
Prove that +/3 is irrational.

18. TR p()=x"-3x%+4x+5 & TR g(x)=x*—x+1
q AN I AES T AT ST o 3
Divide the polynomial p(x)=x"—3x*>+4x+5 by
the polynomial g(x)= x°—x+1. Find the quotient
and remainder.

19. I€E 6 m I Uh FEEX ©H # 9fH W BE 6
TR 4 m &, &% U GHd TH AR HOBET H
TEE 28 m 8l HMR $I Ham S S| 3
A vertical pole of length 6 m casts a shadow 4 m
long on the ground and the same time a tower
casts‘a shadow 28 m long. Find the height of the
tower.

20. APQR #, 5@ @I Q &I §, PR + QR = 25 cm
AR PQ =5 cm R sin P % A9 T HIT 3
In APQR, right-angled at Q, PR + QR = 25 cm
and PQ = 5 cm. Determine the values of sin P.

4203/(Set : B) P.T.O.

(9)  4203/(Set : B)

Previous Pathshala




21.

22.

23.

24.

(10) 4203/(Set : B)
Iq T &EA H o, P IRE, 11 cm o0 & TF a0
%W%W%?(n:%} 3

What is area of circle, the circumference of
which is equal to the perimeter of a square of

side 11 cm ? (n=2—72j

gig - q
SECTION-C
& P : 4
B T~ N\
2x 3y “3x .2y 6
Solve :
LS 11 WA Suli” BN c5)
2x 3y 3x“ 2y (6

T @ S bl AT § O 4x° +3x+5=0 @
EESIEEIG CRE ISR I 4

Find the real roots of 4x2+3x+5=0 by the

method of completing the square.

8 & Y oI 15 TON PN IR S i 4

Find the sum of the first 15 positive multiples
of 8.

4203/(Set : B)
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25.

26.

27.

(11) 4203/(Set : B)
% R T BT ABC & 99€4 TF DS & @A
W,Waﬁrﬁﬁrgﬁrwcqﬁ@ﬁgmﬁﬁ%
gl 4
Construct a triangle similar to a given triangle
ABC with its sides equal to % of the corresponding
sides of the triangle ABC.

fgelt A2, -2) 3R B(-7, 4) @l SieH A @ETS &
q9-Rioid & ar forgatt & Fdsiss s w4

Find the co-ordinates of the points of trisection
of the line segment  joining the points A(2, -2)
and B(-7, 4).

TH S99 H 3 Hid, 2 %8 AT 4 T P _(marbles)
3 A 39 s § ¥ 0% FA Agsdl. MR S R, a‘r
THG! T TIHaT & o T8 e

A box contains 3 blue, 2 white and 4 red
marbles. If a marble is-drawn at random from
the box, what is the probability that it will be :

() ®%<
White,

(i) e ¥,
Blue,

(iii) @ B
Red.

4203/(Set : B) P.T.O.
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28.

29.

30.

(12) 4203/(Set : B)
goE -
SECTION-D

q geel & o &l <Y 180 B B dE&A # i
I HE & 8 T Bl AN WA I B 5

The difference of squares of two numbers is 180.
The square of the smaller number is 8 times the

larger number. Find the two numbers.

5 cm BFl % g9 W A Wit @l g, S
T 60° &% T G bl Bl 5

Draw a pair of tangents to a circle of radius 5 cm
which are inclined to each other at an angle of

60°.

T foorell el @106 5 m Y GH W o T GE!
B AT BRI TG BN B B B T Y G B
R & 1.3 m 9 & g & e & [ ogw
o @ et feae BN =ilRT Prad fF AR & 60°
3 P W PHA § I8 o Rl 9% wEa T &k
7€ W qaEC {6 G H UE-fog e g0 WOl &
Te-ferg & B =R ? (V3 =1.73) 5

4203/(Set : B)
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(13) 4203/(Set : B)

An electrician has to repair an electric fault on
a pole of height 5 m. He needs to reach a
point 1.3 m below the top of the pole to
undertake the repair work. What should be the
length of the ladder that he should use which,
when inclined at an angle of 60° to the horizontal,
would enable him to reach the required position ?

(Take+/3 = 1.73)

YT
OR

s FfT - 5

COS A 1+sinA

- =2sec A
1+sinA cos A
Prove that :
00§A 1+SinA:25ecA
1+sinA cos A
31. % REqM Bl 3.5 cm 9 T 9 & SER W 8, S
I BT g T AT W THRING 81 39 Raae &
"9 AR 15.5 cm ol 39 RN & APl IRl
B ST BT 5
4203/(Set : B) P.T.O.
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(14

)

4203/(Set : B)

A toy is in the form of a cone of radius 3.5 cm
mounted on a hemisphere of same radius. The
total height of toy is 15.5 cm. Find the total
surface area of the toy.

32. MHNREd IRARAr S5 & 717 1 Hhiofg 5
#W 65-68 |68-71|71-74|74-77|77-80|80-83|83-86
FrRarear 2 4 3 8 7 4 2
Find the mean of the following frequency

distribution :

Class-Interval 65-68 |68-71|71-74|74-77|77-80|80-83|83-86
Frequency 2 4 3 8 7 4 2
AYqy
OR
(e 15 [ | R LGS s R 1227 = 1 s 5

FI-S7TIT | ARSI
65-85
85-105 5
105-125 13
125-145 20
145-165 14
165-185 8
185-205 4

4203/(Set : B)
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(15) 4203/(Set : B)

Find the median of the following frequency

distribution :
Class-Interval | Frequency

65-85 4
85-105 5
105-125 13
125-145 20
145-165 14
165-185 8
185-205 4

4203/(Set : B)

Previous Pathshala
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797 32 &
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question paper are 15 in number and it contains
32 questions.
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Before beginning to answer a question, its Serial
Number must be written.

4203/(Set : C) P.T.O.
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(2) 4203/(Set : C)
o FuT-gikTm & T 7Gxl G/ 91 T 881
Don’t leave blank page/pages in your answer-book.

o JuryRdE % Gk _#HE o e T Aah o
ST & [d ST fr@r Fav 7 @

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o gOETElf STy Tl To FIT-YH §T G/geT @)

Candidates must write their Roll Number on the
question paper.

. 7] ® FAY @7 @ §d I8 Ged &Y [ F97-9H
gfi’?faaﬁé qﬁw%a%iﬁ'swww#%?s‘sﬁw
&I TE 9T TETm

Before answering the questions, ensure that you
have been supplied the correct -and complete
question_paper; no claim in this regard, will be
entertained after examination.

G e :
General Instruction :
(i) & FoT ST &
All questions are compulsory.

(i) 3G Fo7-97 7 F7 32 Fo7 & 7 [F X G 7
g e dae @e:

This question paper consists of 32 questions

in all which are divided into four Sections :
A B Cand D :

4203/(Set : C)

Previous Pathshala




(3) 4203/(Set : C)

& & : 57 @ § 1 7 16 7% Z7 16 F97 &,
9% J97 1 o & 81

Section A : There are 16 questions from 1
to 16, each of 1 mark.

% §: 357 % 717 @21 0% T 5 797 8,
JE% 97 3 37F F 8/

Section B : There are 5 questions from 17
to 21, each of 3 marks.

G 7 : 57 G § 22 7 27 7% FT 6 F97 &,
9% J97 & 37 F 81

Section C : There are 6 questions from 22
to-27, each of 4 marks.

8.7 - '59.97%C 4 28 §32 0% FA 5 F7 &,
9% §97.5 i @18l

Section D : There are 5 questions from 28
to 32, each of 5 marks.

(i) G€ § F & goq1 7 okE [Awew _RE 7 &
g7 @ & Jo7 F g7 &1

Section D contains two questions where
internal choice have been provided. You

have to choose one of them.

4203/(Set : C) P.T.O.

Previous Pathshala




(4) 4203/(Set : C)
goE - 3
SECTION - A

1. 0.1521%5%@5?%2%13 1

Express 0.15 in the form P

q

2. f&UQ g0 x° -2x-8 & LFR B N A oWl 1

Find the sum of zeroes of quadratic polynomial
x> -2x-8.

3.W3x—yz3@"(9x—3y:9 ﬁxﬁﬁ'{yaﬁf
A & 1
(A) TH &
(B) I3 & el
(C) A< &

(D) T8 | & @l

The values of x and y from the equations
3x-y=3 and 9x-3y =9 are:

(A) one solution
(B) no solution
(C) infinite number of solutions

(D) None of these

4203/(Set : C)

Previous Pathshala




(5) 4203/(Set : C)

4. 2,7,12, ........... A.P. % 1041 7 ® : 1
(A) 45 (B) 43
(C) 47 (D) 3T & @3 &I
10th term of the A.P. : 2, 7, 12, ........... is :
(A) 45 (B) 43
(C) 47 (D) None of these

5, L2218 AP. H AR @
3’3’33
EASIY 1
Find the common difference of the A.P. : %,g,
918
2 1! &5 ?

6. HoH 4 RU g § § Tl 1= 1 W9 HQ g, R

W S AR : 1
LS| U Brgel @wew 2 81 (HiEdg, a9eg)
Fill in the blank using the correct word given in
bracket :

All ........... triangles are similar.

(isosceles, equilateral)

4203/(Set : C) P.T.O.
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(6) 4203/(Set : C)

7. B9 ABC @R DEF &9&Y & 3@ AABC &
8I%d = 16 cm?, ADEF & &8I%d = 25 cm? 3R

BC=23cm, d EF 2 : 1
(A) 2.875cm (B) 2.758 cm
(C) 2.578 cm (D) ETH § i3 &l

Triangles ABC and DEF are similar. If area of
AABC = 16 cm?, area of ADEF = 25 cm? and
BC = 2.3 cm, then EF is :

(A) 2.875cm (B) 2.758 cm
(C)...2.578 cm (D) None of these
8. I UH f4g P ¥ O %= dK [l g9 W PA, PB @i

T TWEX (80° % FT X FgAH &, dl LPOA T
g 1

(A) 80° (B) 50°
(C) 40° (D) 70°

If tangents PA and PB from a point P to a circle
with centre O are inclined to each other at an
angle of 80°, then ZPOA is :

(A) 80° (B) 50°

(C) 40° (D) 70°

4203/(Set : C)

Previous Pathshala




9. R @M &l qfdf ifor : 1
TH T B o TR Tt @ & HEd 2
Fill in the blank :
A circle can have ............. parallel tangents at
the most.
10. (4, 7) &R (10, -1) f&gett & &= & g 1T B 1
Find the distance between the points (4, 7) and
(10, -1).
11. (4, 7) 8% (2, 3) %@aﬁaﬁﬁwﬁaﬁﬁ%@mqwiﬁg
Sd T
Find the mid point of the line joining-the points
(4, 7) and (2, 3).
12. cos 48° — sin 42° &l HH. §d_Hiei| 1
Evaluate : cos 48° — sin 42°
13. AABC H, {7@s@ &I B 9 8, AB = 24 cm 8K
BC =7 cm &l sin C & A& 1
24
A) =
25
7
B ——
(B) 5
7
Q) =
() 24
(D) FH & & Tl
4203/(Set : C) P.T.O.

(7) 4203/(Set : C)
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(8) 4203/(Set : C)

In AABC, right-angled at B, AB = 24 cm, BC = 7 cm.
The value of sin C is :

24
A e
7
B o=
7
© o

(D) None of these

14. 21 cm B9 a1 TF 9o 1 @ A9 &5 W 60° H B
3faRa X &1 AT BTG ST B 1

In a circle of radius 21 cm, an arc:subtends an

angle of 60° at the centre. Find the length of arc.

N C

15. 19, forge @=E, deR ot HuE #HE 10 m, 8 m

3 5'm H AT © ¢ 1
(A) 400 m? (B) 200 m3
(C) 300 m3 (D) T & F T

The volume of the cuboid, whose length, breadth

and height are 10 m, 8 m and 5 m respectively

is :

(A) 400 m3 (B) 200 m3

(C) 300 ms3 (D) None of these
4203/(Set : C)

Previous Pathshala




16.

17.

18.

19.

(9) 4203/(Set : C)
QA T B T G B A 1 AN I b el &
IR 12 § B A IFH O BN H TREAT 5
T 1

Two dice are thrown at the same time. Find the
probability of getting the sum on the dice is less

than or equal to 12.

gug - q
SECTION -B
o Fife 5 /5 s SmuiEE ge B 3
Prove that \/g is irrational.

TgUE_p(x) = x* ~5x+6 HLITGE glx)=x>~2 F AR
ITSIC | AT LT ATl &6, I 3
Divide the polynomial p(x)=x*-5x+6 by the
polynomial g(x)=x?-2. Find the quotient and

remainder!

TF A 10 m 9 e § = 8 o iR 30 m W
fesm &t R e 31 ARRE 9 @ g0 §9 S 3

A person goes 10 m due east and then 30 m due

north. Find the distance from the starting point.

4203/(Set : C) P.T.O.
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(10)

A>B, @ A 3R B §d Fife

If sin(A—B)zé, cos(A+B)=é, 0°< A+ B<90°,

A > B, find A and B.

21.

HI-IAHR ST & THe H GRIA 72 cm 21 IHH

AABA S BT

The circumference of semi-circular piece of

design is 72 cm. Find its area.

22.

Solve :

4203/(Set : C)

& DI :

gue - q
SECTION-C

15

Previous Pathshala

4203/(Set : C)

20. i3 sin(A—B):é, cos(A+B):é, 0°< A+ B<90°,



23.

24.

25.

(11) 4203/(Set : C)

T g g9 Ay § fEEe g 2x° -7x+3=0
% Il S i1 4

Find the roots of quadratic equation 2% -7x+3=0

by the method of completing the square.

0 3R 50 % o= fouq deet &1 A g FicE 4

Find the sum of the odd numbers between O and

50.
4.cm, 5 cm SR 6 cm gSTeN I b BHYS B =
iy oMY 530S H9eY UF oG Bigs & @
s, Freeft s g B o W el < 2
T B 4

Construct a triangle of sides 4 cm, 5 cm and

6 cm and then a triangle similar to it whose
sides are % of the corresponding sides of the

first triangle.

4203/(Set : C) P.T.O.
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(12) 4203/(Set : C)

26. gl (5, -6) M (-1, —4) &I S aQ TWRETS Pl
y-318 fe ofura # fasiera &t © ° 4
Find the ratio in which the y-axis divides the line
segment joining the points (5, -6) and (-1, —4).
Also find the point of intersection.

27. Uh U & Uh g% Bobl ol g1 Mg B ara s

%l ek STq HifoTT 4
A die is thrown once. Find the probability of
getting :

(i) Uh A¥Y HE,

a prime number,
(ii) 2 o 6 & = fua B e,

a number lying between 2 and 6,
(iii) T fqm-EE

an odd number.

gUs - §
SECTION - D

28. & WS WHEAN =@ § 360 km U T & &l
I g8 9@ 5 km/h I 2, @ 98 S§ aEr ¥ 1
gl 9 9T Qi ISl S T S i) 5

A train travels 360 km at a uniform speed. If the
speed had been 5 km/h more, it would have
taken 1 hour less for same journey. Find the
speed of the train.

4203/(Set : C)
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29.

30.

(13) 4203/(Set : C)

3.5 cm PRI % g0 W 38% &= d 6 cm H g0 W
P fo/g & &1 @l @Sl H AT T &7 Wl e
P TS A 5

Construct two tangents to a circle of radius 3.5 cm
from a point P at a distance of 6 cm from its
centre. Measure the lengths of these tangents.

A AN § UH U$ T A 8 IR LI I AW I
WE g5 o0 & % I$ & Rex HF & g @ 8
AR 36 I 30° F HOT T 51 IS d TR
3, &1 U5 @ RreR F6F B g e, 8 m Bl U &
A S i) 5
A tree breaks due to storm-and the broken part
bends so that the top of the tree touches the
ground making an angle. 30° with it. The
distance between the foot of the tree to the point

where the top touches the ground is 8 m. Find
the height of the tree.

e
OR

s I - 5
cotA—-cosA cosecA-1

cotA+cosA cosecA+1
Prove that :

cotA—-cosA cosecA-1
cotA+cosA cosecA+1

4203/(Set : C) P.T.O.
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(14)

4203/(Set : C)

31. 7 cm Yo a1 T HNTHR &A% % HUX Th FETe @
gI 31 TN 1 Ahad &g F1 & bl § ¢ 39
TER §9 39 H IO A% s Hie)

A cubical block of side 7 cm is surmounted by a
hemisphere. What is the greatest diameter the
hemisphere can have ? Find the surface area of

solid.
32. ffGRad SRARAT s #1 A 371 S
g7 af=reT| 50-52 | 53-55 | 56-58 | 59-61 | 62-64
gregrear | 15 | 110 | 185 | 115 | 25

5

Find the mean . of the following frequency

distribution :
Class-Interval| 50-52 | 53-55 | 56-58|59-61| 62-64
Frequency 15 110 | 135 /|- 115 25

SEC

OR

Ife e R g & AfFHEL H# 28.5 ', A FA 60

el § x SNy &1 O sd i ¢

G- ST | SRS
0-10 5
10-20 x
20-30 20
30-40 15
40-50 y
50-60 5

4203/(Set : C)

Previous Pathshala

5



(15) 4203/(Set : C)

If the median of the distribution given below is
28.5, find the value of x and y of total number is

60 :

Class-Interval | Frequency
0-10 5
10-20 x
20-30 20
30-40 15
40-50 y
50-60 5

4203/(Set : C)
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(2) 4203/(Set : D)
o FuT-gikTm & T 7Gxl G/ 91 T 881
Don’t leave blank page/pages in your answer-book.

o JuryRdE % Gk _#HE o e T Aah o
ST & [d ST fr@r Fav 7 @
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. 7] ® FAY @7 @ §d I8 Ged &Y [ F97-9H
gfi’?faaﬁé qﬁw%a%iﬁ'swww#%?s‘sﬁw
&I TE 9T TETm

Before answering the questions, ensure that you
have been supplied the correct -and complete
question_paper; no claim in this regard, will be
entertained after examination.

G e :
General Instruction :
(i) & FoT ST &
All questions are compulsory.

(i) 3G Fo7-97 7 F7 32 Fo7 & 7 [F X G 7
g e dae @e:

This question paper consists of 32 questions

in all which are divided into four Sections :
A B Cand D :

4203/(Set : D)
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(3)  4203/(Set : D)

& & : 57 @ § 1 7 16 7% Z7 16 F97 &,
9% J97 1 o & 81

Section A : There are 16 questions from 1
to 16, each of 1 mark.

% §: 357 % 717 @21 0% T 5 797 8,
JE% 97 3 37F F 8/

Section B : There are 5 questions from 17
to 21, each of 3 marks.

G 7 : 57 G § 22 7 27 7% FT 6 F97 &,
9% J97 & 37 F 81

Section C : There are 6 questions from 22
to-27, each of 4 marks.

8.7 - '59.97%C 4 28 §32 0% FA 5 F7 &,
9% §97.5 i @18l

Section D : There are 5 questions from 28
to 32, each of 5 marks.

(i) G€ § F & goq1 7 okE [Awew _RE 7 &
g7 @ & Jo7 F g7 &1

Section D contains two questions where
internal choice have been provided. You

have to choose one of them.

4203/(Set : D) P.T.O.

Previous Pathshala




(4) 4203/(Set : D)
goe -
SECTION — A

1. 15.75ﬁ§%wﬁmzﬁﬁm 1

Express 15.75 in the form P

q

2. f@ad 9g@ x*-2x-8 F YIAH H PG
il 1

Find the product of. zeroes of the. quadratic

polynomial Pl Y tidim

3. THiHON 2x—y =39 4x4y=3 8 x AT y &

I+ & - 1
(A) x=4, 1y~ B) x=2,y=1
(© x=-l,y=1 (D) = § HIE &

The values of x and y from the equations

2x-y=3 and 4x+y =3 are:
(A) x=17y=_1 (B) x=27y=1
C) x=-1,y=1 (D) None of these

4203/(Set : D)

Previous Pathshala




(5)  4203/(Set : D)

4. -0.1,-0.2,-0.3, ceoun...... A.P. % 1091 T5 8 : 1
(A) -0.9 (B) -0.8
(C) -1.0 (D) -1.1

10th term of the A.P. : -0.1, -0.2, -0.3, ...........

is :
(A) -0.9 (B) -0.8
(C) -1.0 (D) -1.1

5. 0.6, 1.7,2.8, 3.9, wcveraiinnn. A.P. & HE-A<R &
EAIY 1
Find .the common difference of the ‘A.P. : 0.6,
Y DEE YY) R .

6. HoH 4 RY <&l A QW 1< & TGN H gL, Red
W AR 1
el Pl FHF G- AW &l 9gHs g9ed B §, ak
T T BT oo g (sTeR, |
Fill in the blank using the correct word given in
bracket :

Two polygons of the same number of sides are
similar, if their corresponding angles are ........... .

(equal, proportional)

4203/(Set : D) P.T.O.
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(6) 4203/(Set : D)
7. BT ABC IR DEF &9&Y 8 IR AC = 19 cm &R
DF = 8 cm, i &I Bl & &=Tbel 1 S(gua 8 © 1

19 361
) Ty

38 "
© = (D) W & &g &

Triangles ABC and DEF are similar. If AC = 19 cm
and DF = 8 cm, the ratio of the area of two

triangles are :

19 361

(A = B) —-
8 64
38

(@) (D) None of these

65

8. 3% O a g9 W & Wi x@T PQ @k PR & IR

ZQPR = 46° @ ZQOR & : 1
(A) 160° (B) 150°
(C) 135° (D) 134°

PQ and PR are two tangents to a circle with
centre O. If ZQPR = 46°, then £ QOR is :

(A) 160° (B) 150°
(C) 135° (D) 134°

4203/(Set : D)
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9.

10.

11.

12.

(7) 4203/(Set : D)
R @& & gfd S 1

gq qUl IHH Wl W & IS g B
Fed &l
Fill in the blank :

The common point of a tangent to a circle and

the circle is called ............. .

(-1, -4) ¥R (3, 5) o5&l & = & gh o B 1

Find the distance between the points (-1, —4)
and (3, 5).

(3, =4) 3. (7, 10) fagelt # Fe™ acil ¥&r & 7
frg =T i 1

Find the mid point of the line joining the points
(3, —4) and (7, 10).

cosec 31° — sec 59° & A FTd ST 1

Evaluate : cosec 31° — sec 59°

4203/(Set : D) P.T.O.
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(8) 4203/(Set : D)
13. AABC ¥, R@®H #oT B G860 8, AB = 24 cm 3R

BC=7cm 2l cosC & 9F 2 : 1
7 7

(A) 35 (B) 4

©) % D) =¥ q B T

In AABC, right-angled at B, AB = 24 cm, BC = 7 cm.

The value of cos C is':

7 7
(A) 25 (B) =
24

(©) (D) © None of these

25

14. B 21 cm. @9 & U 99 &E W _60° H &I
3fART AT B A9 BRI g9 T BeuEre @ %k
A i 1

In a circle of radius 21 cm, an arc subtends an
angle of 60° at the centre. Find the area of the

sector formed by the arc.

4203/(Set : D)
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(9) 4203/(Set : D)
15. 919, s a=E, Al @R HAE HAT 13 m, 10 m

3R 8 m & A © : 1
(A) 1040 m3 (B) 1060 m3
(C) 1020 m3 (D) I8 § i3 &l

The volume of the cuboid, whose length, breadth
and height are 13 m, 10 m and 8 m respectively
is :
(A) 1040 m3 (B) 1060 ms3
(C)..1020 m3 (D) None of these

16. A UGl H TH G B Al &l AN g B HesT &
ART 10BN %l SR ST ifoTd| 1

Two dice are thrown at the same time. Find the

probability of getting the sum on the dice is 10.

guE -
SECTION - B

17. o= T (5 342 s omuREy @e B 3

Prove that 3\/5 is irrational.

4203/(Set : D) P.T.O.
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18.

19.

20.

21.

(10) 4203/(Set : D)

TEUE 3x° +x%+2x+5 B x*+2x+1 § AW FHiT
AHA T AVEA S0 BT 3

Divide the polynomial 3x>+x?+2x+5 by
x? +2x+1. Find the quotient and remainder.

7l ¥ 15 m SR W 99 B W fGeH 0% 17 m
TR B UF WG Tge o WGl B UE H @ H gl
EIcIElNIY 3

A ladder 17 m long reaches a window of a
building 15 m above the ground, find the
distance of the foot of the ladder from the

building.

IR tan(A+ B)y=+/3 &R tan(A—B):i,0°<A+B
V3

<90°,A> B Al A X B i 3
1

If tan(A+B):\/§ and tan(A—B):ﬁ, 0°<A+B

<90° A > B, find A and B.

Th gq b IR FE ¥ 33.6 cm AE B I@ W
BT ST I 3

The circumference of a circle exceeds the
diameter by 33.6 cm. Find the area of the circle.

4203/(Set : D)
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ge - 9
SECTION-C
22, & FHiv : 4
S 4 odr2:3.13
X Y X Yy
Solve :
E—i=—2 and Z+§=13
X Y Xy
23. Q0 @ SN & &R & fEEE g e 2% +x-4=0
& o S i 4
Find the -roots of the quadratic equation
2x% +x—4=0, by the method of completing the
square.
24. 9¥9 1000 &9-QUTihi & IR F1d i) 4
Find the sum of the first 1000 positive integers.
25. AABC RU REH BC = 6 cm, AB = 5 cm 3R
ZABC = 60° Bl {5 Uh Bgel &l A1 Hilow e
W“AABCﬂ%Wﬂwaﬁa%%ﬁ@ 4
4203/(Set : D) P.T.O.

(11)  4203/(Set : D)
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26.

27.

(12) 4203/(Set : D)
Construct a AABC with side BC =6 cm, AB =5 cm
and ZABC = 60°. Then construct a triangle

whose sides are % of the corresponding sides of

the AABC.

fgett (-3, 10) &R (6, -8) & e ad TWFETS FHl
g (-1, 6) fh T § fRwvig &< &, 59 Hiom| 4

Find the ratio in which the line segment joining

the points (-3, 10) and (6, —8)-is divided by (-1, 6).

52 TAl P T TR QeI T UH TS A 9 TH U
{eRIGT ST 81 9T B9 &1 UTiaehaT S ifeT 4

One card is drawn from a well shuffled deck of

52 cards. Find the probability of getting :

(i) S T Hl SEE,

a king of red colour,

(i) TH BH HEI

a face card.

4203/(Set : D)
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28.

29.

30.

(13) 4203/(Set : D)
gUE -
SECTION - D
T FATM [ 9% Qe G i, R e
& AR 290 I 5

Find two consecutive odd positive integers, sum

of whose square is 290.

4 cm B #1 ©F 99 @i SR & I g 9 3=
N ITNT B BT, 36 G TSt @Al &l = i 5

Draw a circle of radius 4 em and construct
tangents to it from an external point using the

centre.

T% FHAE THN OT Gel HMR %1 BE 89 RAT § 40 m
HAYH B I & 6 gF H S (altitude) 60° F
gy 30° & Sl 81 UMK # Har Fd S 5

The shadow of a tower standing on a level
ground is found to be 40 m longer when the
sun's altitude is 30° than when it is 60°. Find

the height of the tower.
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31.

32.

(14) 4203/(Set : D)

HYAT
OR
GESCTIE 5
sinG—cosG+1= 1
sin@+cosB0—-1 secO-tan6
Prove that :
sin@-cosO+1 1

sin®+cos®—-1 secO-tand

% fRET @ oTaR® 9F (TF 09 B TR H D
o R #l B9 12 m IR _EE 3.5 m 8 %
9F TN oMEX R fde FEE 12.5 m & AW
eIt &1 fafesT @ aiiar sma i 5

The interior of a building is in the form of a
cylinder of base radius 12 m and height 3.5 m
surmounted by a cone of equal base and slant
height 12.5 m. Find the capacity of the building.

f=foRag SRaRar g @1 q1eg Sd BT : 5

ST | 100150 | 150-200 | 200-250 | 250-300 | 300-350

FRSTer 4 5 12 2 2

Find the mean of the following frequency
distribution :

Class-Interval| 100-150| 150-200|200-250 | 250-300 | 300-350

Frequency 4 S 12 2 2
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ST
OR

frfIReT SRERaAr Ses & JIiegel §1d BT - 5

FI-STT | RS
40-45
45-50
50-55
55-60
60-65
65-70
70-75

N W OOy o W N

Find the median of the following frequency
distribution :

Class-Interval | Frequency
40-45 2
45-50
S50-55
55-60
60-65
65-70
70-75

N W o O oW
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